
Math 202 − Term 121 Duration: 20 minutes Quiz 3A

Name: ID #: Section #:

Q1) [3.5pts] Solve the initial value problem

d2y

dθ2
+ y = 0, y(π/3) = 0, y′(π/3) = 2

Q2) [3.5pts] The function y1 = ex/3 is a solution of 6y′′ + y′ − y = 0. Use reduction of
order to find a second solution y2(x) of the given equation.

Q3) [3pts] Find a linear differential operator that annihilates the given function.

(a) x2e−x (b) 8x− sin x + 10 cos 5x



Math 202 − Term 121 Duration: 20 minutes Quiz 3B

Name: ID #: Section #:

Q1) [3.5pts] The function y1 = ex/3 is a solution of 6y′′ + y′ − y = 0. Use reduction of
order to find a second solution y2(x) of the given equation.

Q2) [3.5pts] Solve the boundary value problem

y′′ − 2y′ + 2y = 0, y(0) = 1, y(π/2) = 1

Q3) [3pts] Find a linear differential operator that annihilates the given function.

(a) (2− ex)2 (b) 4 cos x + 3 sin x− 8


